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



k'jf{wf/ ljsf; 

s|=;+= of]hgfx?sf] gfd ljlgof]lht /sd ;|f]t s}lkmot 

1 dfnafF;]–uf]/vf–b'lb{Daf–6f]vf s[lif ;8s 6«ofs cf]kg 1,500,000 ljlQo ;dfgLs/0f k|b]z 

2 ;f/fª8fF8f–bf]sg8fF8f–n;'g]–dem'jf ;8s 6«ofs cf]kg 1,000,000 ljlQo ;dfgLs/0f ;+3 

3 ;KtdLb]lv /lj;Dd ljB't lj:tf/ -kf]n vl/b_ 2,500,000 cl3Nnf] cf=j= ;+3 

4 hl/a'6] a]x'nL9'Ëf a'4 kfs{, /lj 13,000,000 ljlQo ;dfgLs/0f ;+3 

5 ldSnfh'ª $ kf]n vl/b 885,000 cl3Nnf] cf=j= ;+3 

6 s[lif ;8s u|fe]n 

6,232,000 /fhZj afF8kmfF8 
 

268,000 ljQLo ;dfgLs/0f k|b]z 

7 9f]/], dfem'jf,s]/faf/L xfª\u'd df]=af= lgdf{0f 1,500,000 /fhZj afF8kmfF8 
 

8 /lj–lrD8]8fF8f–yfdy'd ;8s ;f]lnª 500,000 /fhZj afF8kmfF8 
 

 27,385,000   

 

 
;fdflhs ljsf; 

s|=;+= of]hgfx?sf] gfd ljlgof]lht /sd ;|f]t s}lkmot 

1 /lj SofDk; Joj:yfkg tyf ;+rfng vr{ 700,000 cfGtl/s cfo 
 

2 blnt ju{ kfZj{lrq lgdf{0f 250,000 ljlQo ;dfgLs/0f ;+3 

3 cflbaf;L hghftL ;Lk ljsf; sfo{qmd 800,000 ljlQo ;dfgLs/0f ;+3 

4 lzIfs ;]jf cfof]u tof/L sIff 289,000 ljlQo ;dfgLs/0f ;+3 

5 cf}iffwL vl/b 1,000,000 ljlQo ;dfgLs/0f ;+3 

6 ldSnfh'ª v]ns'b ljsf; sfo{qmd 700,000 ljlQo ;dfgLs/0f ;+3 

7 laBfno:t/Lo v]ns'b sfo{qmd 500,000 ljlQo ;dfgLs/0f ;+3 

8 j8f g+= $ df 8DkLª ;fO8 :yfkgf 100,000 cl3Nnf] cf=j= 
 

9 j8f g+= $ df awzfnf lgdf{0f 500,000 cl3Nnf] cf=j= 
 

10 /lj SofDk; v]nd}bfg :t/f]Gglt 500,000 cl3Nnf] cf=j= 
 

11 xf]dkfOk vl/b, ldSnfh'ª–$         50,000  cl3Nnf] cf=j=  

12 lnDaf Onfsf :jf:Yo rf}sL PDa'n]G; vl/b ldSnfh'ª–&     1,000,000  cl3Nnf] cf=j=  

13 afnljsf; s]Gb| Joj:yfkg       800,000  cl3Nnf] cf=j=  

14 ;KtsGof tfn, ldSnfh'ª–^      1,000,000  ljlQo ;dfgLs/0f ;+3 

 
s'n hDdf   8,189,000     

 

 

 



cfly{s ljsf;   
s|=;+

= 
of]hgfx?sf] gfd ljlgof]lht /sd ;|f]t s}lkmot 

1 cflbaf;L hghftL ;+u|xfno cw'/f] ejg lgdf{0f   1,000,000  ljlQo ;dfgLs/0f k|b]z 

2 ko{6sLo ls/fFt :jflu{s tLy{:yn zf}rfno lgdf{0f     500,000  ljlQo ;dfgLs/0f ;+3 

3 
kz' :jf:Yo tyf afFemf]kgf lgjf/0f lzlj/ ;+rfng 

ldSnfh'ª–@     100,000  cl3Nnf] cf=j=   

4 
:jR5 b'w pTkfbg tyf ljljlws/0f ;DaGwL tflnd 

ldSnfh'ª–@     100,000  cl3Nnf] cf=j=   

s'n hDdf   17,00,000    
  

;+:yfut ljsf; tyf ;]jfk|jfx  
s|=;+= of]hgfx?sf] gfd ljlgof]lht /sd ;|f]t s}lkmot 

1 dlxnf ;zlQms/0f tflnd  
     569,000  ljQLo ;dfgLs/0f k|b]z 

      181,000  ljQLo ;dfgLs/0f ;+3 

2 dlxnf ;Lk k|bz{gL tyf k'/:sf/ sfo{qmd       150,000  ljQLo ;dfgLs/0f ;+3 

3 s[lif ;Lk k|bz{gL tyf k'/:sf/ sfo{qmd       150,000  ljQLo ;dfgLs/0f ;+3 

4 blnt ju{ ;Lk ljsf; tflnd      600,000  ljQLo ;dfgLs/0f ;+3 

5 afn Sna u7g / k'0f{ u7g ldSnfh'ª–@        40,000  cl3Nnf] cf=j=  
6 j8f :t/Lo afn e]nf ldSnfh'ª–@        40,000  cl3Nnf] cf=j=  
7 ufpFkflnsf:t/Lo ;~rf/ sfo{qmd      495,000  cl3Nnf] cf=j=  
8 ufpFkflnsf kfZj{lrq     1,050,000  cl3Nnf] cf=j=  
9 kbflwsf/L cfjf; ;'ljwf     1,200,000  cfGtl/s cfo  
10 sd{rf/L vfhf ;'ljwf     1,100,000  cfGtl/s cfo  

s'n hDdf   5,575,000    
jftfj/0f tyf ljkb\ Joj:yfkg  

s|=;+= of]hgfx?sf] gfd ljlgof]lht /sd ;|f]t s}lkmot 

1 k'FhLut e}k/L 1,200,000 ljlQo ;dfgLs/0f ;+3 

  1,200,000   

;a} lzif{ssf] hDdf ah]6 

k'jf{wf/ ljsf; 27385000 

;fdflhs ljsf; 8189000 

cfly{s ljsf; 1700000 

;+:yfut ljsf; tyf ;]jfk|jfx 5575000 

jftfj/0f tyf ljkb\ Joj:yfkg 1,200,000 

s'n hDdf 44,049,000 

 


